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O&deEs o4 30,000,000& * 1JH 2 30,000
oxgd 3&s a4 1,000,000 * 5JH 4 5,000
OdSHNI &4 & wH
8,000,000 * 304 24,000
OAMZLREOHO SBASI| &3
4,000,000 » 20 4 8,000
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=2 30% 3,500& = 57,000m 199,500
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—&8FA 8 100,000 * 50K £ 5,000
03 Al 20 HI 8,393 11,680 A3,287
OQuEASI HIAHBA =2
10,000,000 = 14l * 1.08/100 108
OMNBE Mg
100,000,000 = 141 * 0.90/100 900
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OZE& =2l & |X2el
10,800,000 =14l = 1.08/100 117
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Ozl NS EXE RANE
4,500,000& * 1Al = 1.08/100 49
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10,000,000& * 3JH £ 30,000
Osds B2EFxd =4
500,000,000& * 1JH A 500,000
O3 (LA)=TE AL Fbl
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O=sY = - FX B 71,698
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— T4 48,2403 * 598  48= 11,578
—EX==¢ 48,240% * 5% * 118 2,654
— A2 2R (02 =)
6,030& = 150% » 5% = 4AI2t = 11& 1,990
O=28 = - X &k 22 O=HI(JI2HA) 7,200
— gst= 200,000& = 5H 1= 1,000
-5 150,000 = 5&F » 2% 1,500
—ot= 150,000 » 5% 2% 1,500
—EF= 150,000& » 5% 23 1,500
— &3t 100,000& = 5% =« 2% 1,000
- 29 20,000& = 5H = 2% 200
—REE 30,000& = 5 2% 300
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— etAta SXIA 100& = 10,0000H 1,000
—MNMAEEXAM 100& = 10,0000H 1,000
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oY = - FX ¢x 22 IsH(E+AE) 5,940
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-=3= 150,000& » 6% = 13 900
—ot= 150,000& » 6 * 1= 900
—&EF= 150,000& » 6% * 1= 900
— &3t 100,000& = 6 * 2% 1,200
- 29 20,000& » 6 » 2% 240
-2 30,000& » 6F 2% 360
- 2% 20,000& » 6H » 2% 240
OsY = - 3% X522 S2AU(3RE)
6,000& * 49 » 50 1,200
OsY = - dx 28 EH 2 (&4=4)
200,000& = 53| = 1CH 1,000
OusdM AE 11,000
— 8 60,0003 * 5J4 * 53| 1,500
— ozt 2 o 5,000& 2004 1,000
—=&EXZXN 828 &8¢
100& * 38 ~ 5,0000H 1,500
— FENSGETY CHHE X T (HIH)
70,000& * 1004 7,000
O2Y = X o o8 dbixgH|(SLA
& =XES) 653
—StEX 2 10,0002 » 128 120
—EA28F8 7Y 10,000& * 38 » 12& 360
— MAJIEE (508 ) 7203 * 208 » 128 173
OJQHAAM UAAE HAYMAKS A
=g 70,000& * 89 = 13 560
02 3323l 47,950 42,070 5,880
O2Y = - X ROHZAAG(CCTV) &I
= 25,0003 = 174 = 123 5,100
O2Y = - X ROIHZAAE(CCTV) SAAL
== 100,000& * 1741 = 128 20,400
OedY = -3x2el UXE 3tolet & fEI|
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O=28Y = 38X REE Jthlet RXNE= 13,200
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250,000& = 123 3,000
OsdY = XUtz & SEEI g 2&
DA fER= 4,800
—SEH LER= 300& = 50024 = 123 1,800
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1,500& = 1004 = 12& 1,800
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